Around@)Home
DIY

Seed Starting Rack

© 2017 Around Home Creations LLC. All Rights Reserved. AroundHomeDIY.com


https://AroundHomeDIY.com
https://AroundHomeDIY.com
https://AroundHomeDIY.com/build-seed-starting-rack/
https://AroundHomeDIY.com/build-seed-starting-rack/

Materials & Hardware

o(1)-1/2" x4’ x 8 MDF (49" x 97" actual)

0 (3)-1"x8"x 8 Pine Boards

o (48) - 1-1/4” Pocket Hole Screws

o (12) - 1/4-20 x 2” Oval Phillips Machine Bolts
o (12) - #12 Flat Washers

o (12) - 1/4-20 Nylon Insert Lock Nuts

o (12) - 90° Right Angle Bracket

o Zinsser Bin Shellac-Based Primer

© 2017 Around Home Creations LLC. All Rights Reserved. AroundHomeDIY.com 2/4


https://AroundHomeDIY.com
https://AroundHomeDIY.com

Cutting Diagram Around@Home

:
)
I

N
[
~
Y
N
=
N~
e
N
[
~
N

sitey Moys

47..224’<7..ZZ4><7..ZZ‘>47"ZZ*>

sba

siiey buoq
D T LV—><—""|7—>

-~ 8« 8p——————————————————»

© 2017 Around Home Creations LLC. All Rights Reserved. AroundHomeDIY.com 3/4


https://AroundHomeDIY.com
https://AroundHomeDIY.com

Dimensions

The bolt-hole locations along
the legs can be seen in Figure (a)
and Figure (b) and are identical
for the front and back legs. The
bolt-hole locations on the frames
are shown in Figure (c) and (d).

Note that the holes along the
front of the frames are 1/8" closer
to the front which results in the
front legs extending 1/8" forward
for a slight shadow line and fully
hides the rough edges at the ends

© 2017 Around Home Creations LLC. All Rights Reserved.

of the rails.

For additional details please
see this project's article and video
on our website:

https://AroundHomeDIY.com/
build-seed-starting-rack/

AroundHomeDIY.com

4/4


https://AroundHomeDIY.com
https://AroundHomeDIY.com
https://AroundHomeDIY.com/build-seed-starting-rack/



